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1.You configured your NetApp Cloud Volumes ONTAP instance to protect your data against ransomware. 
A previously unknown ransomware file extension infects your data.  
In this scenario, which two NetApp technologies will provide a writable volume of the dataset before the 
ransomware attack? (Choose two.) 
A. FPolicy 
B. SnapRestore 
C. FlexCache 
D. FlexClone 
Answer: BC 
 
2.You are asked to help a customer architect a private cloud solution using a tightly integrated converged 
infrastructure that can be managed by the vendor. You decide to present FlexPod Managed Private 
Cloud as a solution. 
In this scenario, what are three results of this solution? (Choose three.) 
A. the ability to present storage using FC, iSCSI, or NFS 
B. allows for a variety of server vendors 
C. only available with software-defined storage 
D. validated designs that are available for a variety of applications 
E. the ability to provide rapid redeployment of resources using software-defined service profiles 
Answer: ADE 
 
3.You need to deploy BlueXP Observability collectors into a large environment and require multiple data 
collectors. 
Which of the following must be used to deploy multiple collectors? 
A. VMware clone feature 
B. ONTAP FlexCache Technology 
C. ONTAP FlexClone Technology 
D. BlueXP clone feature 
Answer: D 
 
4.You are asked to provision storage for a development team to make use of NetApp Trident in their 
Kubernetes environment. You want to ensure that Trident will not be able to exhaust the storage system 
resources. 
In this scenario, which two actions would you take to satisfy the requirements? (Choose two.) 
A. Limit the maximum volume count. 
B. Limit the available data LIFs. 
C. Use a shared SVM. 
D. Limit the maximum volume size. 
Answer: AD 
 
5.A customer has deployed a NetApp HCI environment and has configured SnapMirror replication 
relationships to Cloud Volumes ONTAP in AWS. After migrating Cloud Manager from on-premises to 
AWS, the customer can no longer create new replication relationships between existing environments. 
The Cloud Manager can access the Cloud Volumes ONTAP working environment and the current 
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SnapMirror relationships continue to make successful transfers of data. 
In this scenario, where would you locate the source of the problem? 
A. The routing table for the subnet where Cloud Volumes ONTAP resides. 
B. The EC2 type of the Cloud Manager EC2 instance. 
C. The Security Group for the Cloud Volumes ONTAP EC2 instance. 
D. The IAM role for Cloud Manager EC2 instance. 
Answer: C 
 
 


